= o
N & o & AF & H Al A
20228 & =04 LBHSIH &S
AN GEIEY
g d =X sd
S YHPSEaE (B9 ®R)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
&It 0t 49,091,325 39,855,378 9,235,947
= 15,279,078
s 900,000
J| 2,254,953
< 11,153,988
Al 19,503,306
o =X 88 7,859,130 6,724,457 1,134,673
= 1,267,410
s 900,000
J| 1,696,304
< 962,203
Al 3,033,213
LHESEE 52,490 52,090 400
< 4,267
Al 48,223
O ALXIA 23,420 23,420 0
203 YR =&t 3,000 3,000 0
03 Al =AY 2= 3,000 3,000 0
OGHEIIE AIHFA 3,000
301 EEM = 5,420 5,420 0
09 HALAHIX A S 5,420 5,420 0
OESSEH ME2SH & FIIHF3 &It
g4t 18,000& *30H »63| 3,240
OS2t (AL &It E4 100,000 x5H 500
OZE? LA &I 24
14,000& x60H 23] 1,680
307 glz2+0l & 15,000 15,000 0
11T MISRASEX 15,000 15,000 0
02022 HdESF2 JISHA K& 15,000
O EHMHAXREA(EEX) 13,150 13,150 0
< 3,600
Al 9,550
307 21201 A 13,150 13,150 0
< 3,600
Al 9,550
11T AR SXAIEE = 13,150 13,150 0
OWEHH FLaALS 13,150
< 3,600
Al 9,550
O EIHEX& 5,800 5,800 0
201 LB-2d| 5,800 5,800 0
01 At 22l 5,800 5,800 0
OZXZL H3lE - H0H0H - 1B =H - 4= 0
== 750,000%23] 1,500
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S HgotEY
g =X 58
CO2EOEEXE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
Al 116,436
Ot=zaNENFLAS S 29 41,400
J| 20,700
< 8,280
Al 12,420
11T M3 SXASEEX 5,940 3,000 2,940
OO0t 22004 COISAY 5,940
J| 2,970
< 1,188
Al 1,782
CEstsE 22U s & Atdl2el 235,082 224,721 10,361
J| 117,541
S 35,262
Al 82,279
307 glz2tol & 235,082 224,721 10,361
J| 117,541
< 35,262
Al 82,279
11T M SXAISE EX 235,082 224,721 10,361
OLZRaINE YEUNIAMY 199,232
J| 99,616
< 29,885
Al 69,731
OC23ItE Ml 22l XA 35,850
J| 17,925
< 5,377
Al 12,548
Z220/2X SBANMHA XA 175,152 168,200 6,952
J| 63,576
< 19,073
Al 92,503
307 gl2tol & 175,152 168,200 6,952
J| 63,576
< 19,073
Al 92,503
11T M SXAISE EX 175,152 168,200 6,952
OZS0l2X SHAMHI A X& 127,152
J| 63,576
< 19,073
Al 44,503
OZE0I2A SHAA =1 XN & 48,000
ChENEAE LS 37,658 35,520 2,138
J| 18,829
< 5,649
Al 13,180
307 21201 A 37,658 35,520 2,138
J| 18,829
< 5,649




2N
X ZH -
L= B

el

P IlE=n}
oy =X s
C2sIEX

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 13,180
11T A EXAIEEX 37,658 35,520 2,138
OUESSIEXEH dee & 37,658
Jl 18,829
o= 5,649
Al 13,180
OlZSHHIIZSEHXIALALY 33,943 30,070 3,873
J| 16,972
=} 5,091
Al 11,880
307 QI2t0| ™ 33,943 30,070 3,873
J| 16,972
= 5,091
Al 11,880
11 Al EXAIEEX 33,943 30,070 3,873
O0SAHNIIE SHHEXZHAY 33,943
J| 16,972
& 5,091
Al 11,880
Z2E0|10X H&HAS XA 24,500 20,000 4,500
J| 12,250
&< 3,675
Al 8,575
307 2iz2to| & 24,500 20,000 4,500
J| 12,250
= 3,675
Al 8,575
11T AISIEXAIEEX 24,500 20,000 4,500
OZE0I2A U (st20usEs 29) 24,500
J| 12,250
o=} 3,675
Al 8,575
O23IIE SEYHANHA 22012 XK s (X 49,000 63,250 AN 14,250
SRS )
= 19,600
= 5,880
Al 23,520
307 2iz2to| & 49,000 63,250 N 14,250
= 19,600
= 5,880
Al 23,520
11T AISIEXAIEEX 49,000 63,250 N 14,250
OUReIIE sHAMH A 22012 N oA
Hi 49,000
= 19,600
& 5,880
Al 23,520




4 14
SN B SR(EA) - HRAY - e HlnE2
ChE3E SHIAAMH A S3I12 XA 5,665 0 5,665
307 gl2tol & 5,665 0 5,665
11T M ZSXALEE 5,665 0 5,665
OUIaItE SHIANMEA S3I12 X
HI(4HE &) (XHA) 5,665
23 NFRNHMEH SAL SHIXS 83,700 ,551 A4,851
< 27,860
Al 55,840
307 21201 A 83,700 ,551 A 4,851
< 27,860
Al 55,840
10 ALl SXAIEEE2EHEX 83,700 ,551 A 4,851
OU2IIEXNZHE SMI X 83,700
= 27,860
Al 55,840
=224 st 121,300 ,000 1,300
= 42,455
Al 78,845
307 glz2tol & 121,300 ,000 1,300
< 42,455
Al 78,845
11T MIZSXASEEX 121,300 ,000 1,300
O=2=2Y =4 29 121,300
= 42,455
Al 78,845
ChE3ots DELS0l At 16,000 ,000 A 13,000
< 4,800
Al 11,200
307 21201 A 16,000 ,000 A 13,000
= 4,800
Al 11,200
11T M3 SXAISEEX 16,000 ,000 213,000
Ot =2ItE NeLt=0l ALY 16,000
= 4,800
Al 11,200
CEst 3449 22X 7,000 ,300 700
< 2,800
Al 4,200
307 21201 A 7,000 ,300 700
< 2,800
Al 4,200
T M SXASEE X 7,000 ,300 700
ot2st a4 22X 7,000
< 2,800
Al 4,200




SN HAED
HEM: Hd =X X
R U2 IEXA (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ZE2010X AHg=EHNS 14,000 15,000 A 1,000
== 5,600
Al 8,400
307 2Iz2t0| A 14,000 15,000 A 1,000
o= 5,600
Al 8,400
11 A EXAIEEX 14,000 15,000 A 1,000
OZE&0|2A HEEHNS 14,000
& 5,600
Al 8,400
Z2E010X XA 11,150 16,250 A5,100
& 4,460
Al 6,690
307 giztol & 11,150 16,250 A5,100
& 4,460
Al 6,690
11T A EXAIEEX 11,150 16,250 A5,100
O&E0|2I X st XA 11,150
= 4,460
Al 6,690
CI23 IS X KA AL (KHAN) 39,500 39,500 0
301 et M= 6,000 6,000 0
01 M EXE 2562 6,000 6,000 0]
OERNEXNEA 2XE
50,000 x10H x 120 & 6,000
307 QI2t0| & 33,500 33,500 0
11T A EXAIEEX 33,500 33,500 0
OUEZ3IHEXH ISR AAS 27,000
OZE0|28 X WEAHA 6,500
ZE0|10X A=z s 2HHSG FSANE ALY 10,000 7,500 2,500
307 gizto| A 10,000 7,500 2,500
11T AISIEXAIEEX 10,000 7,500 2,500
OZEO0IUX HAES S8t 2HBE S N
202 = 500,000 10,000
ChESIIIEE =AY 19,220 19,220 0
201 LBt 420 420 0
01 AP 22| H| 420 420 0
OUSSIIEXNAEE s ML
70,000 *6H *13] 420
301 et A= 800 800 0
09 HAIAHI X & 2 800 800 0




2N
X ZH -
L= B

el

RSNl
o4 =X
C2sIEX

5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OUESIIE 25 A 34 B4
20,000 x40 800
307 2iz2to| & 18,000 18,000 0
11T A EXAIEE X 18,000 18,000 0
Ot sletstor 12,000
OZZE0|2AF GIE-Z YIIAISY 3,000
OLREIIE 2HAS 242 N
300,000& = 10¥H 3,000
A28 & O2SIIIEXNEH 29 97,377 79,298 18,079
202 044 3,000 3,000 0
01 2L I 3,000 3,000 0
OAHLINE - U2SIIEXNSEEH N=EHEH 22 3,000
307 2iz2to| A 94,377 76,298 18,079
10 M SXAANEEHESIGHEX 84,777 76,298 8,479
OAYINE - G2BANSNAME BAR S
=N 84,777
11T AISIEXAIEEX 9,600 0 9,600
O3 A 2201 - USSR SHEH U= 9,600
Cherst DISE X 4,650,493 3,996,750 653,743
= 1,247,810
Ry 900,000
J| 109,692
& 453,688
Al 1,939,303
IS MY e 2,100,000 1,800,000 300,000
Ras 900,000
& 150,000
Al 1,050,000
403 XX SRS K20| & 2,100,000 1,800,000 300,000
g 900,000
= 150,000
Al 1,050,000
02 2| 2S0UeA=2=2AEAIS Y 2,100,000 1,800,000 300,000
OJIEHEH HE 2,100,000
= 900,000
& 150,000
Al 1,050,000
NS USIX K (FAERADNINS L) 131,620 104,240 27,380
= 65,810
= 32,905
Al 32,905
307 S12t0| & 131,620 104,240 27,380
= 65,810
o= 32,905
Al 32,905

~




=

i
2m

= HnH

131,620

131,620
65,810
32,905
32,905

104,240

= M

,000

,500
,500

5,000

307 glztol &

H

Al

,000

,500

5
1
3
5
1
3,500

5,000

2l

Al

5,000

5,000

1,500
3,500

5,000

Jl

H

Al

228,344

109,692
46,565
72,087

190,810

37,534

307 gl2tol &

hn X

Al

228,344
109,692
46,565
72,087

190,810

37,534

1A SXAIE 2 =

©)

0b

OZ=sS0tUsH 22 (EX)

SS0tLIsE SAN=E

Il

H

Al

n

Al

228,344
219,384

109,692
43,877
65,815

8,960
2,688
6,272

190,810

37,534

IS

SS0tLU=sH 2D (XA)

12,000

12,000

307 glztol &

12,000

12,000

1A SXAIE 2 =

O3s=s0tl=sH =228

12,000
12,000

12,000

SSSE0tU=sH 228 T&

= M

50,000

15,000
35,000

100,000

A50,000

401 AIEHIZ 2 I

t

Al

35,000

10,500
24,500

35,000

01 A& HI

KA 222d

SSH0U=sH 288

= M

35,000

35,000

10,500
24,500

35,000




- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
405 XHA&HF S HI 15,000 0 15,000
== 4,500
Al 10,500
01 AL 2 ZF S| 15,000 0 15,000
OZ2ss80lUsH 2l2da X (ZBEH, AlA
X, 8B 2 129 15,000
&< 4,500
Al 10,500
2= =20ILsH & X 50,000 86,000 A 36,000
401 Al EHI L 2 0HHI 40,000 0 40,000
01 Al&H| 40,000 0 40,000
OZ2SS0tLsH AX(HetA, HE &) 40,000
405 XHAHFEIEHI 10,000 0 10,000
01 AL 2 EF S| 10,000 0 10,000
CO=2sS0lUsH AXN(LEAHER X F
o) 10,000
ololsE KA (EX) ,688,571 1,400,000 288,571
= 1,182,000
o=t 202,628
Al 303,943
307 2iz2to| & ,688,571 1,400,000 288,571
= 1,182,000
& 202,628
Al 303,943
11T A EXAIEEX ,688,571 1,400,000 288,571
Oootolss N ,688,571
= , 182,000
o= 202,628
Al 303,943
Olol==20l HZH&H K& 2,880 2,700 180
=} 864
Al 2,016
307 QI2t0| ™ 2,880 2,700 180
& 864
Al 2,016
11T A EXAIEEX 2,880 2,700 180
Ootol=20] A=A &Hl X 2,880
& 864
Al 2,016
=M OI0l Ol& Olol=sMHIA REXA 367,992 308,000 59,992
307 2I2t0| & 367,992 308,000 59,992
11 A EXAIEEX 367,992 308,000 59,992
O=MOolaXNE Olol=sMElA 22X ALY 367,992
Olol==20l 2w =d XA 14,086 0 14,086




- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ 2t

= 4,226
Al 9,860

307 2iz2to| A 14,086 14,086
= 4,226
Al 9,860

11T AISIEXAIEEX 14,086 14,086

OO0I0l= 20| E41WsH &

9,170 16 Al 2t*x96H 14,086
& 4,226
Al 9,860

SHEDIIEX 1,215,455 418,711
J| 854,765
& 150,945
Al 209,745

SIERIIENE 2=H S XA 1,055,962 412,022
J| 844,770
= 105,596
Al 105,596

301 et A= 1,055,962 412,022
J| 844,770
= 105,596
Al 105,596

01 Al E & A 462 1,055,962 412,022
OstE2IHEXH ¢=sH & N 1,055,962
J| 844,770
o=} 105,596
Al 105,596

HAUSER XS XA 12,493 3,189
J| 9,995
& 1,249
Al 1,249

301 dEtE M= 12,493 3,189
J| 9,995
= 1,249
Al 1,249

01 Al B & X 262 12,493 3,189
OFadEsEa NE XS 12,493
J| 9,995
& 1,249
Al 1,249

HNAS 2EXNIIE MEXNHIAIL(EX) 147,000 3,500
= 44,100
Al 102,900

301 LBt A= 147,000 3,500
= 44,100
Al 102,900

01 Al E & A 452 147,000 3,500




SN O EIIE D
B 0l

S BRRIIEI EERED
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2

ONMAS S822tE NS NAAMNY 147,000
S 44,100
Al 102,900

Hgdasd 524,985 483,653 41,332
Il 284,949
= 103,606
Al 136,430

Y EHLYEL 2EXE 219,442 204,410 15,032
Il 101,526
= 55,680
Al 62,236

307 212t0l & 219,442 204,410 15,032
Jl 101,526
= 55,680
Al 62,236

10 M SXNANEEE2SHEX 219,442 204,410 15,032
OJNE=EEdEg4L 28 XN& 219,442
Il 101,526
S 55,680
Al 62,236

IIYEHUH A ESAE SN (FA: 2G|+ + 230,022 204,254 25,768

SAEAH+RLEH)

Il 154,537
= 35,006
Al 40,479

307 glztol & 230,022 204,254 25,768
Il 154,537
= 35,006
Al 40,479

10 MM SXNANEEE2SHEX 218,289 190,403 27,886
ONE=EE Il EsAE 28X 218,289
Il 143,224
& 34,796
Al 40,269

AR S XA E X 11,733 13,851 A2, 118
OJE =Y Ioi it NPesetl 1,408
Jl 988
= 210
Al 210
OJNEEZHINNESAIE Hl==2 X MAHI 10,325
Il 10,325

IIHBAMAR 2SAE 2SS (H2IS2Y) 10,000 0 10,000
Jl 5,000
S 2,500
Al 2,500

402 QI2tXt=01 & 10,000 0 10,000
Jl 5,000
S 2,500




AR GRS =

g d =X sd
SE R PR CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

Al 2,500

02 U EALEZ(0IETHR) 10,000 0 10,000
ONEZZINNESAE JIsEL 10,000
J| 5,000
< 2,500
Al 2,500

NE=ZSHUINKA ESAIE EAA HEAA 5,000 15,000 A 10,000
J| 5,000

301 LA F 5,000 15,000 210,000
J| 5,000

01 AR 2Z A5 3 5,000 15,000 210,000
OXNEZ=ZLNoHA & Al NHE XA 5,000
J| 5,000

NHEE=SY oA XMigsls T2 20,987 20,987 0
J| 14,691
< 3,148
Al 3,148

307 gl2tol & 20,987 20,987 0
J| 14,691
< 3,148
Al 3,148

11T M SXALSE EX 20,987 20,987 0
ONEZgUdikt XNzgzss 220y 20,987
J| 14,691
< 3,148
Al 3,148

IHEZLIH A =8 KR 3,124 3,571 ANA47
J| 2,186
< 469
Al 469

307 glz2tol & 3,124 3,571 NA47
J| 2,186
< 469
Al 469

01 2724l 3,124 3,571 ANA47
ONEZEH Ui X+ 22| 3,124
J| 2,186
< 469
Al 469

JHEEY Jtoll A n3¥XE T2 29H 1,298 1,559 A 261
J| 909
< 195
Al 194

307 2201 A 1,298 1,559 A 261
J| 909
< 195
Al 194




AN GEIEY
g d =X sd
SE R PR CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 1,298 1,559 A 261
ONF=EHIIoHA ANz 29 1,298
J| 909
< 195
Al 194
A= qloH A 2l=2dl, 2tEd X 1,572 1,572 0
J| 1,100
< 236
Al 236
307 21201 A 1,572 1,572 0
J| 1,100
< 236
Al 236
01 92724l 1,572 1,572 0
OdZdIci &t 2 =24l 1,572
Jl 1,100
< 236
Al 236
Hood AYsX(EX) 19,440 18,000 1,440
< 5,832
Al 13,608
301 LEHZ 19,440 18,000 1,440
< 5,832
Al 13,608
01 MEI2ZE +=06l= 19,440 18,000 1,440
OEEY 2HANE SAMX=E 19,440
< 5,832
Al 13,608
FHAY #Adsd 7,300 7,300 0
301 LEXS 7,300 7,300 0
01 MEIBEZE 405z 7,300 7,300 0
OJNEZHINX BESAE SAK 02224
g XA 7,300
OtsHEtEXGA2Y 1,800 2,000 A 200
< 540
Al 1,260
307 glz2tol & 1,800 2,000 A 200
< 540
Al 1,260
11T M SRASEEX 1,800 2,000 A 200
O0tsH&d X992 1,800
< 540
Al 1,260
HEZHAWLESEAY 5,000 5,000 0
201 et 5,000 5,000 0




SH: 0EIED
HE: ols =X

SR RS

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 5,000 5,000 0
OWEd="0ZLE2AL 5,000
otrsdayd =X &8 11,927,512 0 11,927,512
= 4,235,305
J| 558,649
< 2,419,511
Al 4,714,047
Bs0ts XA 869,725 0 869,725
= 375,526
J| 43,522
< 116,458
Al 334,219
Ots23s g2 =& 22,700 0 22,700
201 LBt 10,700 0 10,700
01 At 22l 4,900 0 4,900
OOtSSRY 923 S 5o Haxy
70,000& +73 x10¥ 4,900
02 23224l 5,800 0 5,800
Oot=sstth €28 FUda 234l
40,0003 «5CH 123 2,400
OXAE HEXE B2 1,000
OXZNE SR RFUH S 2,400
202 o4dl 2,000 0 2,000
01 = LH 4 Hi 2,000 0 2,000
Ootsstth g2 =a 2,000
301 LerEBAF 10,000 0 10,000
01 AR 2& A5l 3 10,000 0 10,000
Ostthulolols 2=22H & LAESH S 10,000
OtsSSttH AL =H:E HdEd AKX 10,000 0 10,000
= 5,000
Al 5,000
405 XHoHF S HI 10,000 0 10,000
= 5,000
Al 5,000
01 AL ESFH S 10,000 0 10,000
OOtSSIHEAN SHEXNEEH AKX 10,000
= 5,000
Al 5,000
OrSZZXIAHAM(CIENASHE) XA 312,524 0 312,524
= 218,766
< 46,879
Al 46,879
301 LEBEAZ 312,524 0 312,524
= 218,766




A OEEDY

Hu: OlEHAE =X ZX
ol Bs0ts K& (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 76,879
Al 46,879
01 MEI2BZE+06l= 312,524 0 312,524
OOtsLERAAE XA 312,524
= 218,766
< 46,879
Al 46,879
ot=s2s dEFA 2l 10,767 0 10,767
101 @14l 10,767 0 10,767
03 2R (RIAHA)2Z2NHE > 10,767 0 10,767
OUSESHERIU(EHXE) HEANS
1,315,820 « 1 »23] 2,632
OOSESNLQA (S M) JAHZ A
140,000& »1H =120 & 1,680
OOSESHYQA (S M) HIIE A
102,032& *»1H 10 1,021
OtsEsHERR(EEE) F2ag
1,096,520& * 1 x23| 2,194
OOlsEsHdA(Cadsa) da2ad Jtarza
60,0002 x1H 1204 & 720
OOlSEsNEA (S M) HaEsy|
40,0002 x1H = 1204 & 480
OsESHEQRA(ETE) JIEzg
120,000& »1H =121 = 1,440
OtsESHERR (ENE) ARag
50,0002 x1H 1204 & 600
OlsEs MEgdA A2 (EX) 117,700 0 117,700
= 94,160
< 11,770
Al 11,770
101 14l 95,700 0 95,700
= 76,560
< 9,570
Al 9,570
02 JIEtE B = 63,800 0 63,800
O0l=Esdgd XA 31,900,000 »2H 63,800
= 51,040
< 6,380
Al 6,380
03 B2 (RIHY)2Z2NE S 31,900 0 31,900
Ots=2sdEd XA 31,900
= 25,520
< 3,190
Al 3,190
201 Let2d] 5,000 0 5,000
= 4,000
< 500




2N
X ZH -
L= B

el

CEpIE
OHEHLE =X

S =

2350s N

Ol

SN FH-SA(EN) - MBAY - BES

=

i
2m

500

01 AtR 2t 2l Hl

O2s0ts It RES 7Y

on

= W

5,000

5,000
4,000
500
500

5,000

202 o4 Hl

=z N H
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301 LEHZ 86,860 0 86,860
< 26,058
Al 60,802
01 MEI2EZE 45z 86,860 0 86,860
Osty a3 12,000
< 3,600
Al 8,400
OIS &2 NHEFES 60,000
= 18,000
Al 42,000
OJIE2E0tS 2tAlHI 4,140
< 1,242
Al 2,898
OZE R ZH| 9,000
< 2,700
Al 6,300
Ox=1 gzl 1,720
< 516
Al 1,204
E3E20s MHg=Y XA 72,000 0 72,000
= 57,600
< 4,320
Al 10,080
301 LEPEXZ 72,000 0 72,000
= 57,600
< 4,320
Al 10,080
01 MEIBEE 2063 72,000 0 72,000
OEs&s=20ts g4 72,000
= 57,600
< 4,320
Al 10,080
A A0tsIHE A& 62,174 0 62,174
J| 43,522
< 9,731
Al 8,921
301 LeHBAF 62,174 0 62,174
J| 43,522
= 9,731
Al 8,921
01 MI2ZHE 06z 62,174 0 62,174
Oggots L84y XA 50,400
J| 35,280
< 7,560
Al 7,560
OHMOls gLLEEXS 9,074
J| 6,352
< 1,361
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Al 1,361
OgLHIEXA 2,700
2l 1,890
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= M

Ots=XA4 X3 694,235 0 694,235
289,825
179,362
225,048
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stusiorsa e X& 229,554 0 229,554
91,821
68,866
68,867
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307 glz2tol ™ 229,554 0 229,554
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68,866
68,867

zZ W

10 ALl SXNAIEEE2EHEX 229,554 0 229,554
Osftiusiotsde =g X& 229,554
91,821

68,866
68,867

= Hn W

StI{OIoHOts&EH SALA MRHMH XA 12,120 0 12,120
3,528
8,592

= M

301 LetEH S 12,120 0 12,120
3,528
Al 8,592
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01 A28 H =62 12,120 0 12,120

OsttHuloiotsS & SALA S8+ 9,720
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Al 6,912
OStHuloHOls & SALA BE 2,400
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Al 99,002
307 2iz2to| A 396,008 396,008
= 198,004
= 99,002
Al 99,002
10 MM SAANEEHESIGHEX 396,008 396,008
O0ls2EsdE20I& 84 396,008
= 198,004
& 99,002
Al 99,002
OlSESEEIZ SAA HR2MAH XS 23,153 23,153
=} 6,946
Al 16,207
301 et A =2 23,153 23,153
& 6,946
Al 16,207
01 Al B & X 262 23,153 23,153
OUSESEII & SAL E8H 15,408
& 4,622
Al 10,786
O0lsSESdE2)|& SAAN 2U22+E 7,745
= 2,324
Al 5,421
Ols&ll Alclats XI2dl K& 3,400 3,400
= 1,020
Al 2,380
307 ciztol A 3,400 3,400
& 1,020
Al 2,380
11T AISIEXAIEEX 3,400 3,400
Ootssl AlciMdE, XIZHl X 3,400
= 1,020
Al 2,380
Ols&8ll 821= 30,000 30,000
307 212t0| ™ 30,000 30,000
05 QIZ2tE 2 30,000 30,000
OOls&l oigs fAst 22 st 30,000
ots 8& K& 5,307,279 5,307,279
= 2,710,644
J| 159,232
& 1,378,830
Al 1,058,573
ors24 X& 1,434,930 1,434,930
J| 159,232
= 798,000
Al 477,698
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301 LEHZ 1,434,930 0 1,434,930
| 159,232
< 798,000
Al 477,698
01 A3l EE E 56l = 1,434,930 0 1,434,930
ogst=E ots=S4 XA 636,930
| 159,232
Al 477,698
Oglls otss4a N& 798,000
= 798,000
Ots+=€ X= 3,872,349 0 3,872,349
= 2,710,644
< 580,830
Al 580,875
201 £B-2%H| 449 0 449
= 314
= 45
Al 90
01 At 22l 449 0 449
O0ts+4 2Z 449
2 314
= 45
Al 90
301 LPEXS 3,871,900 0 3,871,900
= 2,710,330
< 580,785
Al 580,785
01 MEIBZE 2053 3,871,900 0 3,871,900
Ots=¢ K= 3,871,900
= 2,710,330
< 580,785
Al 580,785
NSotsHdy X& 3,207,381 0 3,207,381
= 833,330
< 648,106
Al 1,725,945
Aootsdye 29 XA 310,930 0 310,930
201 Let24d] 1,500 0 1,500
01 At 22l 1,500 0 1,500
OXNSGOotsHE SAX W, 2t€3 =& 1,500
202 O4dl 1,200 0 1,200
01 = LHO YI 1,200 0 1,200
OXgotsdH ANEFEZ 2el 1,200
301 LPENF 261,880 0 261,880
01 MEIBEEE 2063 261,880 0 261,880
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OXSotsSHE SAL SX=E
130,000 48 «12& 74,880
OXS0otSHE SAL EII25+E
50,000 x13ZH x12&+70,000& »15H »12& +100, 31,200
000& x9& ~ 128
OXdotsd e SA&<0 XA 155,800
307 21201 A 46,350 46,350
11T MISXASEX 46,350 46,350
OXYotsdH 2HM&E X&
30,0003 x527H x 13| 15,810
OX<gotsdH WiHw-Hl XI& 10,540
OXYotsdH dietetyl XI& 11,500
OXdotsdy FEM=sUHa XA 6,000
OXgotsdH MsE=E3 X2 2,500
ANSotsdH 2ZH X3 (EX) 1,606,200 1,606,200
= 803,100
= 321,240
Al 481,860
307 glz2tol & 1,606,200 1,606,200
= 803,100
< 321,240
Al 481,860
10 AL SXAIEEE 2 H EX 1,606,200 1,606,200
OXgotsdH Jle22l 1,606,200
= 803,100
< 321,240
Al 481,860
ANEotsdEe 298 =X 13,800 13,800
< 4,140
Al 9,660
307 21201 A 13,800 13,800
< 4,140
Al 9,660
10 ALSISXAIEEE2GHEX 13,800 13,800
OXYotsdE 2g4l =ItX&
50,0003 * 120 & *23H 4 13,800
< 4,140
Al 9,660
ANAotsdE elAddl =X 67,391 67,391
= 20,227
Al 47,164
307 glz2+ol & 67,391 67,391
< 20,227
Al 47,164
10 ALSISXAIEEE2EHEX 67,391 67,391
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= W

307 glztol & 20,460 0 20,460
10,230
4,092
6,138

= MW

10 A SIALHE2SEHIEX 20,460 0 20,460

OEx==8d XNd0tsdH FIHXA 7,560
3,780
1,512
2,268
OER2Y XA0tsdH FIHXA 12,900
6,450
2,580
3,870

= N H

=z M H

ANEotsdlEe T2 8l FIF XI& 160,620 0 160,620
< 48,186
Al 112,434

307 21201 A 160,620 0 160,620

48,186
112,434

= N

10 A SIAEHE2SEHIEX 160,620 0 160,620
OXY0otsde T2 8d FItX& 160,620

48,186
Al 112,434

H

ASG0otsdH ots=24 K& 892,500 0 892,500
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= M

301 LEIENZ 892,500 0 892,500
223,125
Al 669,375

N

01 Al 28X =0dl= 892,500 0 892,500
S E

510 »7,000& 250 892,500
223,125
Al 669,375
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NEOotsHE SAMX S 76,680 0 76,680
= 15,336
Al 61,344

301 LEENF 76,680 0 76,680

= 15,336
Al 61,344
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01 MI2EZE+06l= 76,680 0 76,680
OXS0otSHE SANSESE
120,000& 22 »12& +150,000& «25H » 12& 76,680
< 15,336
Al 61,344
NEOtsHEH SAL BEE 18,800 0 18,800
< 3,760
Al 15,040
301 LEHZ 18,800 0 18,800
< 3,760
Al 15,040
01 MEI2EZE+05l= 18,800 0 18,800
OXS0otSHE SANEESE
200, 0003 *47H +23| 18,800
< 3,760
Al 15,040
KNGotsdE SIS AS 40,000 0 40,000
= 20,000
< 8,000
Al 12,000
402 2I2H X201 M 40,000 0 40,000
= 20,000
< 8,000
Al 12,000
02 QIZEHE2AIS EZ (O THS) 40,000 0 40,000
OXgotsdH &3Me X 40,000
= 20,000
< 8,000
Al 12,000
a4 #3 N 1,287,182 0 1,287,182
= 24,480
J| 196,756
< 68,162
Al 997,784
Eadsga 29 501,000 0 501,000
307 glz2+ol & 501,000 0 501,000
05 RIZtE = 501,000 0 501,000
OFag=ga 2l 434,000
QI 24l 376,000
2dl 58,000
OFad=E2 AL 67,000
Fad 23 AY 40,000
M1008] HEole At 10,000
FAE BAZZOY 29 8,000
FAE 2SlUF ALY 9,000

_23_




]

HeIt=

2N

o o o o o o o o o o [eo] [e0] [eo] o o
o o o ha ~— ~— o o o o < < <t o o
S|3|2 o Bt S |2 S |2 N N N S S
888 Q|®|® | T3 S S S o o
E
B
o o o o o o o o (@] o o o o o [e]
H3r
5)=7]
RIS
o o o o o o o (e] o o o o o o o o o o o o o o 0 I < O < < [ee] 0] o O O O X <t o O O o O
o o o O o O O — — — — O o o o o O o o O O O < NN < NN < A © © N © © o O O o O
Sle|e S eSSl |D|nwSe e ~|S8 S8 8 S S oldam T ldaT A dnRNNEN OO0 SSS S
© © © © o O O (e} [oe] [oe] < — — — - <t < O oMo © M ™ © M MmO o O — — N — — N ol —
=
ol
<
(=)
A= A= A= A= A= ~
8 x K
ar of o =
%0 &0 x> ES
.mun_ o op _ o
I 8 S ol <
i i T & U @
D < _ =
mr oo ™~ ~ I+ .4._|A =
= % <+ 71 o
Ik il <R < 30
ar — — = < T [ — =1 -
= =) b= D t S K iR0 0K
) 80 3l 0 r 5 o5 - &
— 0] < o 00Ul A RN 5 = - iy
= _ _ TTH R W 4 -+ 3 = I ~ o=
KD KD RO oF = A I W ol o
LI oT Gl = i o & ¥R R w1 80
* | ) 9 iof it &l o 0o o<k 0H 0
& mw = 3 W|w|s |3 K H N & < | |Ho 20| B o <4 m m -
. R |or ™ 8 W= || ™ W o W T WU jon W™ om om P R i w0 < < < )
- oS |F 3o A [ 4D S A wm ok 4d A= =] oF M RO R0 5 S
I I I RO|D | B0 RO TR S| R|T(T R R R U A A Ao T Rl
R || |2 O ol"™la|x OO OO S| O|rR|R OO O|R al al O a)
12518 R 815 8|5 > 5 8 > 5
x 4|3 4| & & S 4 & 4 &
| ® R0 R0 R0

_24_



M 08I S
=R E=F PNERES (.
oelr HAW HE X CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 1,000
05 RIZt &= 2,000 0 2,000
OFALEE AN 2ERA-S 23 2,000
J| 1,000
Al 1,000
Fad S 03t00 2K 364,564 0 364,564
J| 166,232
= 49,870
Al 148,462
307 21201 A 364,564 0 364,564
J| 166,232
< 49,870
Al 148,462
02 QB AAHE X 332,464 0 332,464
OFag&u=o2tool 299 332,464
Fadasga 166,232
J| 83,116
< 24,935
Al 58,181
HEAEESAE 166,232
J| 83,116
= 24,935
Al 58,181
05 RIZHRIEt 3 32,100 0 32,100
OFAYE ZUSOIICIDI SAL HRMA 32,100
A2 15,300
FAHESE 16,800
Fda4@ s0tel A& 12,500 0 12,500
J| 5,000
< 2,500
Al 5,000
307 21201 A 12,500 0 12,500
J| 5,000
< 2,500
Al 5,000
02 QIAHFAAHFEX 12,500 0 12,500
O&FEAaY s0telX& 12,500
J| 5,000
< 2,500
Al 5,000
Fad FHAAS =29 2,800 0 2,800
J| 1,400
Al 1,400
307 2201 A 2,800 0 2,800
J| 1,400
Al 1,400
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05 2zt & =3 2,800 2,800
OFad F0ogs 29 2,800
Jl 1,400
Al 1,400
g3 2A/AMUES X 48,960 48,960
= 24,480
= 9,792
Al 14,688
307 glztol & 48,960 48,960
= 24,480
< 9,792
Al 14,688
1A SXAIE E = 48,960 48,960
O34 AN (HEH
) 48,960
= 24,480
< 9,792
Al 14,688
AE FOELS ALY 20,000 20,000
< 6,000
Al 14,000
307 21201 A 20,000 20,000
< 6,000
Al 14,000
02 It HAMAEE 20,000 20,000
OFAGEHEH3 ALY 10,000,000& #20H & 20,000
S 6,000
Al 14,000
A4 MeEAM X 493,710 493,710
Jl 149,539
< 23,793
Al 320,378
A2E4EgERNMHH 29 180,000 180,000
307 glztol & 180,000 180,000
02 (It HAMAEE 5,000 5,000
OFAILUESNHEH & A 5,000
AMZAXH E4aE D=2 ALY 5,000
05 QIRt2lE = 175,000 175,000
OFAFHYESXHH 24l 175,000
el | 165,000
g4l 20,000
A2H4G=ERNEEH ALY K& 18,000 18,000
< 18,000
307 gl2tol ™ 18,000 18,000
< 18,000
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05 QIZ2tR E 2 18,000 18,000
OFALAEANYSIHE AFHHI(BEX) 18,000
= 18,000
HAYW SEHA} T2 29 72,768 72,768
J| 30,324
Al 42,444
307 QI2t0| & 72,768 72,768
p] 30,324
Al 42 444
05 QIZtRES 72,768 72,768
OFAYE S AWM XS 12,120
OFAYE SEHA T2 29 60,648
J| 30,324
Al 30,324
HAYE otNMG 2 105,275 105,275
J| 49,325
Al 55,950
307 giztol A 105,275 105,275
J| 49,325
Al 55,950
05 QIZtR ES 105,275 105,275
OFAEOAMY HRIMHEXRA 6,625
OXFAEHMA(XAASIHAEESS XS HAH)
29 98,650
9] 49,325
Al 49,325
stpgt 3A4E XM 29 95,416 95,416
J| 59,850
Al 35,566
307 QI2t0| ™ 95,416 95,416
J| 59,850
Al 35,566
05 QIZtREZ 95,416 95,416
Ostner H3AE XNJAHEH HR2MA 9,916
Ostuet A4 X HEH 29 85,500
J| 59,850
Al 25,650
stpet Al g4 I 8,000 8,000
J| 4,000
Al 4,000
307 QI2t0| ™ 8,000 8,000
J| 4,000
Al 4,000
02 QI2tAAMAIE E =X 8,000 8,000
Ostm & B#ad AN 8,000
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Jl 4,000
Al 4,000
dadE SEXE A 8,626 8,626
J| 6,040
< 1,293
Al 1,293
301 LEHZ 8,626 8,626
J| 6,040
< 1,293
Al 1,293
01 MI2EZE 06z 8,626 8,626
OFad" SEXNF AL 8,626
J| 6,040
< 1,293
Al 1,293
dag G & Stu=xd o WS 5,625 5,625
< 4,500
Al 1,125
307 21201 A 5,625 5,625
< 4,500
Al 1,125
02 YAFHAANGFEX 5,625 5,625
OFAHIUZEMN & SUEHULT WS 5,625
< 4,500
Al 1,125
HAE AL X& 34,000 34,000
J| 9,600
< 4,800
Al 19,600
Fad A=A 10,000 10,000
307 21201 A 10,000 10,000
02 ItFAAHE X 10,000 10,000
OHM208 HA4H MS=0 &AL 5,000
OMS503 ddog X0l 844 M 5,000
a2 HSg0tEe 29 X2 24,000 24,000
J| 9,600
< 4,800
Al 9,600
307 21201 A 24,000 24,000
J| 9,600
< 4,800
Al 9,600
02 HAFHAANGFEX 24,000 24,000
O34 =80t 24 24,000
J| 9,600
< 4,800
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| | Al 9,600
HAd BsEs A 34,000 34,000
= 1,500
Al 32,500
HAH gs A& At 31,000 31,000
301 = 1,000 1,000
12 = 1,000 1,000
HRolatd ADNTA 2 Bs5Es YA 1,000
307 30,000 30,000
02 A E R 30,000 30,000
gt S ALY XS 30,000
HA4 2ZEAI B X & 3,000 3,000
= 1,500
Al 1,500
307 3,000 3,000
= 1,500
Al 1,500
02 AP EX 3,000 3,000
Soletd ZAIE 29 3,000
= 1,500
Al 1,500
g =% 28,379,008 33,062, A 4,683,673
= 9,305,500
== 7,650,326
Al 11,423,182
BSAE 28,349,008 21,916, 6,432,390
= 9,290,500
= 7,645,826
Al 11,412,682
Helold 29 2 SAML X 912,700 912 0
201 et d| 3,500 3, 0
01 AP 2t 2| bl 3,500 3, 0
OB Z EFAEE 70,0003 *10Y *53] 3,500
202 04| 3,000 3, 0
01 2L I 3,000 3, 0
O0eolE NE=&EA 22 3,000
301 et M= 859,200 859, 0
01 Al B & X 26 2 859,200 859, 0
OO0 2tAl X3 A
500 *20L x700H 1200 & 84,000
OO0l 2tAaH K&
5002 x20 *2, 100X 1204 & 252,000
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OAZHE ofelold 28l X
100,000& #3401 A 1200 & 40,800
ONEold Ex'E20] 214H X&
200,000 *20H 2= = 1200 & 48,000
O=2=Y JUFSZ X
30,0003 330 121 & 118,800
ONE 0l FHAMZR0] 1A X
300,000 4600 2=« 120H & 165,600
OBSwA Zed+g 150,000
307 glz2+ol & 47,000 47,000 0
11T MISRASEX 43,000 43,000 0
Oogold EsnXd A3s 20,000
ONgolsd 4z Ha 283 13,000
O0eold EsuXA stitstal 10,000
12 QIO & = H| 4,000 4,000 0
OBEnid E=1= 4,000
ESANE S 374,600 397,600 A 23,000
< 106,380
Al 268,220
301 LEHZ 311,000 324,000 A 13,000
= 93,300
Al 217,700
01 MEI2EZE+05l= 311,000 324,000 A 13,000
OEsuAA MR AH 311,000
< 93,300
Al 217,700
307 21201 A 63,600 73,600 210,000
< 13,080
Al 50,520
11T M3 SXAISEEX 63,600 73,600 A 10,000
Oogold deterdl XI& 60,000
< 12,000
Al 48,000
OFAXS olelold 24| 3,600
< 1,080
Al 2,520
ESUIA A & 2EXA 6,946,800 6,332,400 614,400
= 3,473,400
< 1,736,700
Al 1,736,700
307 21201 A 6,946,800 6,332,400 614,400
= 3,473,400
< 1,736,700
Al 1,736,700
11T MISAASEX 6,946,800 6,332,400 614,400
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OBsnAR oA X& 6,946,800
= 3,473,400
= 1,736,700
Al 1,736,700
BSA4E MR H T2 6,300 6,300 0
307 giztol A 6,300 6,300 0
11T A EXAIEEX 6,300 6,300 0
ONel ol MRSH T2 X 6,300
OO EAIE THEEXRD IR 2 E4n=ss83 N 2,000 2,000 0
AbS
307 2iz2to| & 2,000 2,000 0
11T AISIEXAIEEX 2,000 2,000 0
OO MEAIE BXD| & MEXZ2D XA 2,000
BRUA2A MMM NJ(BEXZnA & ddEs A 1,030,000 1,044,600 A 14,600
SE AL
= 515,000
= 257,500
Al 257,500
307 2iz2to| & 1,030,000 1,044,600 A 14,600
= 515,000
= 257,500
Al 257,500
11T AISIEXAIEEX 1,030,000 1,044,600 A 14,600
OB HR2MEXN(BEXZLAZWAIAL
) 1,030,000
= 515,000
= 257,500
Al 257,500
WAIZ2SEHARAH (2L WA L DAIZRKAZ X&) 962,600 898,400 64,200
= 481,300
& 240,650
Al 240,650
301 et A= 962,600 898,400 64,200
= 481,300
== 240,650
Al 240,650
01 AR E & A 462 962,600 898,400 64,200
QUAIZESHAMNSLBI (L DA XI2H|) 946,000
= 473,000
& 236,500
Al 236,500
OUWANZEAJE =& 16,600
= 8,300
& 4,150
Al 4,150
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
DY HR2ME N (sEESUA SE2 2+ 80,000 80,000 0
2)
= 40,000
< 20,000
Al 20,000
301 LA S 80,000 80,000 0
= 40,000
< 20,000
Al 20,000
01 MEIBEE 263 80,000 80,000 0
OsEESuA SEE822xE & 80,000
= 40,000
< 20,000
Al 20,000
O2l0ld A A XI& 144,000 272,520 A 128,520
= 72,000
< 36,000
Al 36,000
301 LEHZ 144,000 272,520 A 128,520
= 72,000
< 36,000
Al 36,000
01 MI28E 6= 144,000 272,520 A 128,520
OCEol& CHA AL XI& 144,000
= 72,000
< 36,000
Al 36,000
Heloly 2N (sHEL2T AlEI=SXEo &0 d 5,600 7,400 21,800
29U XH)
= 2,800
< 1,400
Al 1,400
307 21201 A 5,600 7,400 A 1,800
= 2,800
< 1,400
Al 1,400
11T AS S RAEE = 5,600 7,400 A 1,800
OsoEge oelold X 5,600
= 2,800
< 1,400
Al 1,400
Helold 2SI (0ol H2dHl) 40,000 36,000 4,000
= 20,000
< 10,000
Al 10,000
307 glz2+ol & 40,000 36,000 4,000
= 20,000
< 10,000
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AN GEIEY
B 88 5X
o9l BRAE 2YXNH CERED
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
ORZRY HE8z X 413,400
< 124,020
Al 289,380
0RI01A BRE20 N 123,000 80,000 43,000
= 36,900
Al 86,100
307 21201 A 123,000 80,000 43,000
= 36,900
Al 86,100
11T MISRAASEX 123,000 80,000 43,000
oogold 220 XN& 123,000
< 36,900
Al 86,100
Helold S2tAdl XI& 137,520 143,916 A 6,396
< 41,256
Al 96,264
301 LeHBAF 137,520 143,916 A 6,396
= 41,256
Al 96,264
01 MI28E 6= 137,520 143,916 A 6,396
ONgold =2tAaldl X 137,520
< 41,256
Al 96,264
Helold 2SN (HMHAESHA) 17,148 16,392 756
< 5,144
Al 12,004
301 LPEXZ 17,148 16,392 756
= 5,144
Al 12,004
01 MEIBZE 05z 17,148 16,392 756
OZHOMOIMZHEO0IE 2HA 1A 17,148
< 5,144
Al 12,004
SZEHE0IE XA (HEAY) 420,000 420,000 0
< 315,000
Al 105,000
307 212+0| & 420,000 420,000 0
= 315,000
Al 105,000
11T MISRAISEEX 420,000 420,000 0
OZ2328 oelold XI& 420,000
= 315,000
Al 105,000
S3E80e0d nssAML N 12,000 5,000 7,000
< 3,600
Al 8,400
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R BESAAE 21 (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 12,000 5,000 7,000
== 3,600
Al 8,400
11T A EXAIEEX 12,000 5,000 7,000
OZ2Z280el0ld n=sstHIM&d K& 12,000
= 3,600
Al 8,400
FOISSARHE HE 5,434,812 0 5,434,812
401 AlEHIZL 2 0HY| 5,434,812 0 5,434,812
01 Al& H| 5,434,812 0 5,434,812
OR0ISEXNIAH HE 5,434,812
Olo| e =sRe|ME 29 s 145,200 0 145,200
201 et 9| 145,200 0 145,200
01 AR 22l ] 145,200 0 145,200
Ooo|edE=s2dH 29 AXs 145,200
ool ESe|dH 29 246,848 0 246,848
101 124 H| 17,148 0 17,148
04 JI2ZtHIZ22NEES 17,148 0 17,148
O2EA oAHY| 17,148
AR 73,2803 1 %184 13,484
SasLLE 73,280& 1 x50 3,664
201 LBt | 55,000 0 55,000
01 AP 22| H| 31,000 0 31,000
Ogbt4=24| 25,000
Oolo|esiEsedy T2 Wi 2 M
s 7¢ 6,000
02 332%H| 22,000 0 22,000
OZ2322 % ZHOIX el 22,000
03 A2 HH| 2,000 0 2,000
O0t0| LHE 2| HE JH2 A} 2,000
301 et M= 14,700 0 14,700
12 JIEtE2 A= 14,700 0 14,700
On=s 2 Megmz ) 2AI=S 14,700
405 XHo&HF S HI 160,000 0 160,000
01 XA 2 FF S| 160,000 0 160,000
O&UZ, I8, 8XHS S 160,000
el 0l& OMEH 2dH|l XI& 45,000 0 45,000
& 13,500
Al 31,500
307 2izto| A 45,000 0 45,000
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el BEFAE 29X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 13,500
Al 31,500
11T M SXASEX 45,000 0 45,000
O0elold OAMle 2&Edl XI& 45,000
< 13,500
Al 31,500
BFAE S3HA 30,000 44,000 214,000
= 15,000
< 4,500
Al 10,500
Heold &3 30,000 44,000 214,000
= 15,000
< 4,500
Al 10,500
402 RI2HXt20l ™ 30,000 44,000 214,000
= 15,000
< 4,500
Al 10,500
02 212t 2 AL EZ (01X TH ) 30,000 44,000 A 14,000
O0E0IE JISEZ(HE=) 30,000
= 15,000
< 4,500
Al 10,500
CYHAHE 294 881,075 0 881,075
= 470,863
< 121,948
Al 288,264
HAANES OtsSSAHIA X3 299,767 0 299,767
= 184,760
< 23,095
Al 91,912
FAHE OlsSEAMEIA XA 68,817 0 68,817
101 @124l 27,417 0 27,417
03 SR (RIAHY)2Z2NES 27,417 0 27,417
OOt S & At 22l AH(3Y) 27,417
HEHNOS 1,279,990& »3H »23| 7,680
M Z AlH| 140,000& 3 =121 & 5,040
d2g 1,792,000%3 5,376
RSN
60,000 x2Z » 1204 2 +50,000& » 1Z 54 & 1,690
Hera sl 40,0002 *3H 1204 2 1,440
IE=g 120, 0003 »1H =120 = 1,440
AR 50,0003 *3E 12 & 1,800
HOFE &Y 98,340& x3H x 102! 2,951
201 LBt 1,400 0 1,400
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A OIS
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&S HAANS OtsSSEAMEIA X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZz ) d2Y 5,500
2 4,400
< 550
Al 550
202 044l 3,000 0 3,000
= 2,400
< 300
Al 300
01 = LH o4 1l 3,000 0 3,000
OEHAERE d23tUE S WA
500, 000& x63] 3,000
= 2,400
< 300
Al 300
301 LA F 94,910 0 94,910
= 75,928
< 9,491
Al 9,491
01 MEIBEE 263 80,960 0 80,960
OZz)d=2g 80,960
= 64,768
< 8,096
Al 8,096
09 HALAHIX RS 2,550 0 2,550
OZz ) d2Y 2,550
= 2,040
< 255
Al 255
12 J|EtE4 = 11,400 0 11,400
OZ20d ZAME 11,400
= 9,120
< 1,140
Al 1,140
CetlssdH 29 X& 162,176 0 162,176
= 88,248
= 19,711
Al 54,217
CetHssdE 23H XN 7,000 0 7,000
201 £B-2dH| 1,000 0 1,000
01 At 22l 1,000 0 1,000
OUENE=sSAY XG=s8AN 29 1,000
307 glz2+ol & 6,000 0 6,000
05 RIZt2E = 6,000 0 6,000
OUEHN=sSHH 22 XA 6,000
CHEH S S A (EX) 4,800 0 4,800
= 2,400
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A OIS

B CYARE 29
&2 OEgnssdy 23N (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 A& HI 5,000 0 5,000
otsgNssSdH X8 N (=Es) 5,000
= 5,000
CtE N SSHH SMR =2 3,680 0 3,680
= 736
Al 2,944
307 glztol & 3,680 0 3,680
=) 736
Al 2,944
05 QIZt2IE =2 3,680 0 3,680
OUEN =SSHH AL =2 3,680
=) 736
Al 2,944
Ots=X WAt 2E K& 419,132 0 419,132
= 197,855
< 79,142
Al 142,135
Ots=XIAL I+A 23,422 0 23,422
101 @124l 22,422 0 22,422
03 22X (RIIHY)2R2IE S 7,422 0 7,422
OXNSAS ST AH1Y) 7,422
dEY0US 1,302,690& 12| 1,303
A zatl 140,000& =70 & 980
Al2tel =S 18,960 x15A1 2+ x701 & 1,991
d2+4 1,085,570 13l 1,086
SRR = P = 60,000& 70 & 420
APE 50,000& +7JH & 350
HOFE &Y 101,120 =10 1,012
tHerg sl 40,0003 +71 & 280
04 JIZHHZ2XNSE S+ 15,000 0 15,000
O0ts=XnAt SX=<
50,0003 «25H <1204 & 15,000
201 LBr2 Y| 1,000 0 1,000
01 At 22l bl 1,000 0 1,000
O0s=X AL HE=5 & 2tE3| Fa 1,000
OlSSX A IHA(EX) 395,710 0 395,710
= 197,855
& 79,142
Al 118,713
101 1Al 395,710 0 395,710
= 197,855
< 79,142
Al 118,713




A OIS
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- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
03 22X (RIHSY)22XHE 17,298 0 17,298
OX<EANZEX AL 2124H| 17,298
= 8,649
o= 3,460
Al 5,189
04 J|12tHIZ22NEES 378,412 0 378,412
OO0ts=S Xl WA 2124d| 378,412
= 189,206
& 75,682
Al 113,524
SHAE A AH| 44,600 68,240 N 23,640
JlE&ddl 44,600 68,240 N 23,640
Jl2&Hl 44,600 68,240 N 23,640
201 et d| 20,000 23,000 A 3,000
01 AFR 2t 2| bl 20,000 23,000 A 3,000
OWAEIIZY =] 5,000
Ogbt4=24| 15,000
202 044l 20,400 40, 140 A 19,740
01 2L Y| 20,400 40, 140 N 19,740
A2 =X I 20,400
203 &R F & 4,200 5,100 A 900
04 EASHEYRFAH| 4,200 5,100 A 900
OBN2I9I2F=&| 4,200
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